Question 4 

	
	

	 
	Refer to the table.
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Which of the following statements is true? 

Answer 
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Gains from trade are possible for both countries. 
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Only Kiribati will benefit from trade with Tuvalu. 
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Only Tuvalu will benefit from trade with Kiribati. 
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No gains from trade are possible for either Kiribati or Tuvalu. 


	
	
	


Question 12

Suppose that there are two states that do not trade: Iowa and Nebraska. Each state produces the same two goods: corn and wheat. For Iowa the opportunity cost of producing 1 bushel of wheat is 3 bushels of corn. For Nebraska the opportunity cost of producing 1 bushel of corn is 3 bushels of wheat. Present production is: 

	
	Iowa
	Nebraska

	Wheat
	20 million bushels 
	120 million bushels 

	Corn
	120 million bushels 
	20 million bushels


 

a. Explain how, with trade, Nebraska can wind up with 40 million bushels of wheat and 120 bushels of corn while Iowa can wind up with 40 million bushels of corn and 120 million bushels of wheat. b. If the states ended up with the numbers given in a, how much would the trader get?
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